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1. Z3# Mg
(1) Determine the Standard Penetration Test (SPT) < (10%)
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2. Plot the bearing capacity failure in soil and identify the name of each
zone based on Terzaghi’s bearing capacity theory (10%)

3. Apply 2:1 Method to determine the consolidation settlement of the
foundation?(20%)

|

Im Py .
qo=150kN/m*(net stress increase)

BxL=1mx2m

1.5m Sand 7=16.5kN/m*
Y. _Groundwater Table

05m Sand_y =17.5kN/m’

Normally consolidated clay

2.
sm Ce=0.32, e=0.8

IS

CmRABRREABPBER P (C=C,> 0=0) KX AHRE DK
R+ 30mx40m > EHRBKES 200MN > LR Ew EA
1875KN/m’ » 3% A2 A Rtk RARREES 5 D 215%)

[

C—HEMERDRERIATR LRARRAS o BRES
ToWAMEHRE 2 LR EHERAMS LB EHRE
P21 8 MR o (15%)

o

R4kt Culmann B & Coulomb X %) £ B 7 89 54 A2 © (10%)

=

. #| A Terzaghi’s bearing capacity theory # B A # A&/ ¥ ERAR
SRR IR S 2 (10%)




